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OlZZ222LHA] 300
ONZE OIHY FAAEE
25,000& = 12& 300
O[ANAEZH RXHI] 3,000
O Z&EEE&H X4 1,500,000& = 2= 3,000
405 XHoHFE S HI 9,900 2,000 7,900
01 JHMY = EF S HI 9,900 2,000 7,900
O[MAMLSEFE=SH|] 9,900
o=¥E=2&EY XEIHet ¢
9,900,000& = 1CH 9,900
ME==—-DNE=F3 3,260,526 2,531,644 728,882
= 35,000
= 3,225,526
WRI|FE= 3,260,526 2,531,644 728,882
= 35,000
= 3,225,526
ANEIE 29 270,000 270,000 0
o= 10,000
= 260,000
308 XX SHAHSOIH 270,000 270,000 0
o= 10,000
= 260,000
08 msJl&tistEx2 270,000 270,000 0
O=Z0HMEHEH 9Hl XN
80,000,000& * 1A 80,000
OZHME A 29 X
80,000,000 * 202 160,000
OSHME WA ANEXH
30,000,0000& = 10024 30,000
= 10,000
= 20,000
st galE sts K| 520,000 525,000 A5,000
201 et 9| 350,000 350,000 0
01 AP 2t 2] H| 350,000 350,000 0
ogeolotatdiol st& X
87,500,000 * 44 350,000
308 AMXISHHSOIA 170,000 175,000 A5,000
08 WEI20UStEEX= 170,000 175,000 A5,000
Oxs&sn gus Exn4s X3
10,000,000& * 70 70,000
O=x,8st 2¢tits &5 A
10,714,285& * 70 75,000
O=stM AMu=E sts5K
25,000,000& * 1JH 25,000
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= 25,000
s 25,000
08 WEII20HE2EZ 50,000 50,000 0
OsEXNY 302 ZAMXA
50,000,000& * 1@l 50,000
= 25,000
e 25,000
ey 2u34 X 824,483 749,814 74,669
201 LB-2dH| 560 560 0
01 At 2t 2l 560 560 0
ORSZLSABANAMNPIASE O] &AL
70,000& = 13| = 8¢l 560
308 XIS SO0 A 823,923 749,254 74,669
08 WEII 202X 823,923 749,254 74,669
OXBY 2HTA XV (XF)
163,416.4& * 2,783Y 454,788
OXBY 2HTA V(S
217,138.2& = 1,700 369,135
DSsw Jl=Adl XI& 58,553 51,340 7,213
201 Let24d] 490 490 0
01 At 22/l 490 490 0
OgdZusFL ARG B2
70,000& = 721 = 13| 490
308 XtXIEHHSOIA 58,063 50,850 7,213
08 WEII20UHet2x= 58,063 50,850 7,213
OnSstw JI=AH XI&  1,036,839& * 56Y 58,063
st ¥ usIIA 890,490 120,000 770,490
201 £B-2dH| 490 0 490
01 At 22l 490 0 490
oleg=+¢] 490
OYARDRLHANEC &4 29
70,000& = 721 = 13| 490
308 XXM SO0l A 890,000 120,000 770,000
08 WEII20UHEE2ES 890,000 120,000 770,000
OME=w S&x& XI&  50,000,000& * 14 50,000
OZgllstusdE X& 600,000,0008 1A 600,000
OfAHetw neiz2dg N
200,000,000& * 14 200,000
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OALdEs D AIEEH| 40,000,000& = 14l 40,000
HEStNAEAE 505,000 505,000 0
308 MXISHMSOIA 505,000 505,000 0
08 EI20UStEEX= 505,000 505,000 0
OY=zsnsd s48X&
50,000,000 * 40 200,000
OE£E2 stn s4XH 20,000,000& * 21 40,000
OA=20 s8&dgss &
40,000,000 = 1JH A 40,000
OS eI WA XIS 45,000,000 ~ 59 225,000
NETME IR = 142,000 260,000 A 118,000
306 52 142,000 260,000 A 118,000
01 s2 142,000 260,000 A 118,000
OgaZoEsy I3 sH=2
142,000,000 = 14l 142,000
HMSESHMH 2= 486,270 396,020 90,250
M E52Y 486,270 396,020 90,250
MI2EMSIST A€ 2Y 2,000 2,000 0
201 et 9| 2,000 2,000 0
02 2% H| 2,000 2,000 0
OF=ZHMstE T AIE 3 A3l
2,000,000& = 14! 2,000
219 Jf x| 19,900 19,900 0
201 et 4,500 4,500 0
03 A2 EH| 4,500 4,500 0
O=EE2E2(ZEHIIE )M
150,000 * 7& * 33| 3,150
oszg & A2 E ¢ 5,0008 * 54J8 = 53| 1,350
301 Bt A= 400 400 0
07 28l == 0 bl 400 400 0
o219y 2AF ZE NI 100,000 = 43| 400
307 QI2t0| ™ 15,000 15,000 0
04 CIZ2tSHALALS B X 15,000 15,000 0
O21gdxsd 29 /=2 15,000,000 * 14 15,000
EE=SIMEE =M 20,000 20,000 0
307 212t0| ™ 20,000 20,000 0
02 QIZHE AAIE E X 20,000 20,000 0
OssME=Ed=AH 20,000,000& * 14 20,000
HMSEE T AI2H 35 18,250 22,000 AN 3,750
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8,000,000& * 13l 8,000
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8,000,000& * 13l 8,000
202 O4dl 2,250 2,000 250
01 = LH 4 Hi 2,250 2,000 250
OBMSSENEI L 25T ofb|
150,000& = 321 = 53| 2,250
o2t uE2d 426,120 332,120 94,000
201 £B-2dH| 39,520 49,520 A 10,000
01 At 22l 39,520 49,520 A 10,000
Ozoluns i 7¢
2,000& = 1,250Q1 » 2@ 5,000
O2dHusE2d AARES 7Y
10,000& * 500Q! 5,000
Os=28 M= 70,000& » 360H & 2,520
O2dus 28 418 M
20,000& » 500% 10,000
Ossz M+ 10,000& * 400¥ 4,000
O2dHus2d 22357
100,000& * 60H A 6,000
O2dusstsd 24|
116,666& * 604 = 13l 7,000
202 04l 8,600 2,600 6,000
01 = LH 4 Hi 8,600 2,600 6,000
O=2digtn 2SX= ¢4l
20,0003 = 20! = 215 8,600
301 et A Z 378,000 280,000 98,000
09 &AL HIZB &S 378,000 280,000 98,000
OSSR stau Ayl
1,000& * 1,500Q1 * 122 * 53 90,000
O2dius 2A=E
30,000& * 16091 » 12 » 5& 288,000
FBS4 e R=s 2,003,191 2,021,081 A 17,890
< 28,125
[ia 1,975,066
sSHEE 24 1,157,161 1,281,750 A 124,589
< 28,125
e 1,129,036
R LdSAAEIZSE 228,157 300,000 AT1,843
201 -4 26,257 0 26,257
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02 2324l 26,257 0 26,257
ol2222 ¥ HMAl 19,170
ontsegs M3t MEZ
7,500& * 21304 + 128 19,170
O[AMNA &I R XYl 7,087
oYd=Z =4 7,087,000& = 14 7,087
202 4l 1,900 0 1,900
01 SLHOIYI 1,900 0 1,900
O0t=¢s LA S0
20,000& = 191 = 95¢ 1,900
401 AIEHI L 20| 200,000 300,000 A 100,000
01 A& HI 200,000 300,000 2100, 000
S8 tSESE HLAMS
5,000,000& = 400H0t= 200,000
SHEZTDEAHA YRS 69,750 48,750 21,000
< 28,125
i 41,625
402 RIZ2EXt20l ™ 69,750 48,750 21,000
< 28,125
e 41,625
01 A=A EX 13,500 0 13,500
OZ238 RHAHY 2= 13,500,000 * 14 13,500
02 BI2HCH & A& HI 56,250 48,750 7,500
OsHEXNS 2UHANYUY 2=
56,250,000& * 14 56,250
< 28,125
s 28,125
CCTV SE2HdEH 29 22l 859,254 928,000 AB8,746
101 @124l 400,080 0 400,080
04 JIZHHZ2Z2XNESE S 400,080 0 400,080
OSEZHAH S2LIHZ A 1A
1,667,000& » 20 » 128 400,080
201 et 107,674 0 107,674
01 At 2teltl 5,200 0 5,200
Olget+gl] 1,000
OTRIE ¥ A &L
250,000& = 208 = 23l 1,000
ol2g=¢] 4,200
OSEZMNUH 2EAJs o
70,000& * 159 « 43] 4,200
02 232gHl 102,474 0 102,474
Ol2322 ¥ HMAl 82,474
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Sl SMEY T4 (B9 ®R)
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O SEZHHEEH dA=3Hd AlEE
96,800 * 713/ & = 12&€ 82,474
O[AMEEHISXHl] 20,000
O Est2MAEH SXl22lbl
20,000,000& * 14! 20,000
401 Al HI L 2 0HHI 350,000 928,000 A 578,000
01 Al&H| 350,000 928,000 A 578,000
OCCTVEES HMAE D3 AFY
350,000,000& = 14 350,000
405 XH&HF S HI 1,500 0 1,500
01 JHAY 2 E F S H 1,500 0 1,500
OSe&HEH W& 2
1,500,000& * 1CH 1,500
HESEA D3 846,030 739,331 106,699
CIHUYUNSH(IPT)AIAE = 169,219 115,000 54,219
401 AlEHIZL 2 0HY| 19,219 25,000 N5,781
01 Al&EH| 19,219 25,000 AN5,781
OCCTVEES 2 M AE QEHUWUAES(IPT)IAIAE RS
19,219,000 = {14l 19,219
405 XHAHF S HI 150,000 90,000 60,000
01 AL 2 Z F S| 150,000 90,000 60,000
ONXEESE U HWBAAX WA
75,000,000& = 204 150,000
HESAAE A2 205,473 156,493 48,980
201 Bt 105,493 105,493 0
01 AP 22| H| 13,278 13,278 0
O[gets2H] 13,278
OFMEUH(E, S8 4l)
41,000 = 304 ~ 12&€ 1,476
OBAHIXA IEZXSHD| gtdiel #+¢
270,000& * 3CH * 13 810
oO&EH&(AHOE) 76,5008 * 18 ~ 128 918
O LANAHIOlE ¢ 131,0008 * 28 = 128 3,144
O LANAHEIE P& 45 000& = 50BFA 2,250
OZ=R0ls & pPVCE2E 153,000 = 10B8FA 1,530
OFUWEA M= XM 900,000& = 20 A 1,800
OFUHZHeISHML(LAN)E =272
135,000& = 104 1,350
02 332%H| 92,215 92,215 0
O[ANAEZH RXHI] 92,215
OMXNEEESEY RANEL 24,149
o HERA&H KIE
155,620,000 * 6% * 1. 10,271
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o WESRE B4 (s, 89)
210,258,000& = 6% * 1.1 13,878
OEH=X 2= 10,907
2AL EEEESERS
81,817,000& = 6% * 1.1 5,400
PNR=a= (ATM) RXE =
24,120,020& = 6% * 1.1 1,592
BE Ry RX2a
32,620,000 * 241 * 6% 3,915
OCHUHA JANAE ST 34,444
0 BAHXNA IEANAE RANES
10,500,000& 1741 » 6% 10,710
AXE OF | SXE==  450,000& * 13 450
a5 T RABL
55,659,070% * 6% * 1.1 3,674
QIHY AWa)| RANE+
135,000,000 * 6% * 1.1 8,910
o MOF RXI2 =+ 1,750& = 2,0002] & 3,500
oIP Z& AE(Z-SH)RNES
90,000,000 * 8% 7,200
S Al |22 8,250
& UCATV FHIRXNE S
6,750,000& * 13l 6,750
o U 2e &l 1,500,000& * 13l 1,500
CHESHNLRYE |RIE=+ 3,150
o R&H [(UPS) SXIE=
450,000& * 23 900
2844 8D RAE+
450,000& = 23 900
o g=2egsll 1E =#cldl
675,000& = 1CH = 23] 1,350
O 2S3&HI(WPN) RXE+ 8,615
2S5t VPN) RXIE =
87,180,705& = 8% 6,975
0 WSERHE(MAZ2H) A2
24,840,000& = 6% * 1.1 1,640
24 FAEH RAE+
225,000& = 123 2,700
1,000 1,000 0
LH 04 H 1,000 1,000 0
ESASAM ABESAMN SHEHHI
20,0003 = 20! = 25¢ 1,000
=S4 98,980 50,000 48,980
=357 98,980 50,000 48,980
FAX 1 X 1,000,000& = 5CH 5,000
SAUAIAEH 25 90,980,000 * 14 90,980
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OHSEMANAE 222 N2AMAAE
3,000,000& = 1CH 3,000
HESHNEA 29 22 471,338 467,838 3,500
201 LBt ]| 466,338 467,838 A 1,500
02 2=2=24%H| 466,338 467,838 A 1,500
Ol2222YLHAI 466,338
OQCIHUHNBIAIE S 270,000& » 12€ 3,240
OXBESAAFAX & M3t E5t=
225,000& ~ 12& 2,700
OQHUAAY M=2Ct23 0|82
600,000& » 12& 7,200
Osliedst Al22(601) 450,000& * 12€ 5,400
OQHUYW=ZEHOIX dEIHE AIE=
1,350,0008 * 12& 16,200
O QI 43| & 2 (ADSL, GVPN, SDSL)
31,500 * 123/ & = 12€ 4,536
O&E-222t olE3l4dazs 1,260,000& * 12& 15,120
O zal MEHEI(DID)AIE2
33,7623 * 603 « 128 2,709
O 2N AlE 2 163,240
oA £BetX3 ES S
22.2223 x 5000 * 1= 3 * 20L& * 12 40,000
=
o A2 2BtE3E E2
22.2223 * 50001 * 1583 * 202 * 12 40,000
2
0 0lsSHdE Ss=
208.333& * 200 * 8= 3t » 20 = 12 80,000
|
o MEANEZE 270,000& ~ 12& 3,240
ONME3Z N Ol&d= 28,0008 = 203l M 560
OYVHE MBE(24, 224, 5HA)
135,000 = 304 = 12&€ 4,860
ONEZ3H =S4, MA(HAR)
15,692¥ = 153 & = 12&€ 2,825
OHESHI N AZ2(EIS)
515,620€ * 160HA = 12&€ 99,000
OHEESANSA AE 2 (256Kbps)
234,0009 * 7IHA + 12€ 19,656
OHEEANS AN AE 2 (128Kbps)
67,5002 « 34 + 12€ 2,430
OSHAERZOESA MEILHAMES
90,000& = 103/ & = 12&€ 10,800
OZ-MYgA-S8H HEFAF FAAES
15,6912 = 953| & = 12&€ 17,888
OX-&SKY HAEMS FJHAMES
9,375% * 203l * 128 2,250
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O/dHE3Il AIE 90,000& = 3CH = 123 3,240
OBHNA  Ags ME3H AER
75,0003 * 150 » 12& 13,500
O EMOIXl SMSAtE 2 100,000& * 128 1,200
OSEES(CATV)=AR 500,000& = 123 6,000
OCEHAEE NS (M, BA)
5,000& * 53l& * 12& 1,500
OUYUAABAEALIHANEZ(MSE0ISI )
411,166.66% = 12& 4,934
OZECMZ 3l S8 AES(LY,43)
412,500 * 12 4,950
O SEHAZEANLE 08
2,700,000& = 12& 32,400
ONVFBHHS SHULSHY ASE
1,875& » 800CH 123 18,000
401 AIEHI L 201 5,000 0 5,000
01 A& HI 5,000 0 5,000
OZ3A0S ZLEAA (L2422
5,000,000& * 14! 5,000
208t 2= 1,168,457 710,437 458,020
= 28,030
< 15,240
e 1,125,187
HEFE 2 1,032,783 406,409 626,374
= 14,314
e 1,018,469
HEAIAE ZH "X 160,237 62,019 98,218
201 Let24E] 11,302 6,562 4,740
01 At 22l 2,100 2,100 0
Oflget=&Hl] 2,100
ORUUALZI| 88X L EUTRY
350,000& * 6CH 2,100
02 =24l 9,202 4,462 4,740
O[AIE&HIR Xl 9,202
O SEYHAAAE S/WFXES
39,500,000& * 12% 4,740
O RooALZI| FANE =+
55,770,000& * 8% 4,462
202 Oddl 1,260 1,260 0
01 = LH 4 bl 1,260 1,260 0
O3SIIEAIAE Ze| s
70,000& = 321 = 63l 1,260
403 Ut SHHSA=0l& 90,275 54,197 36,078
02 S| 2 S0l CH &tHCH & A 90,275 54,197 36,078
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OZBED|BIAAE R BLE(2SD|82)
623,228,571 * 7% 43,626
OZ2ED|BAAE R BL(2SI|8EH)
432,948 ,582& * 7% 30,307
O28J|8AAE SXES(MHIACAZR)
1,701,000,000 / 2430 Al 23 7,000
OAZF MolEFRAIAE S 224
205,524,000& / 2204 Al 2 9,342
405 XHAHFI S HI 57,400 0 57,400
01 XAt 2 EF S| 57,400 0 57,400
ORololaezg)| A (MAST)
21,400,000& * 1CH 21,400
OrF: st WH 36,000,000& * 14! 36,000
2N 2el 527,677 27,677 500,000
201 2et2 Y| 27,677 27,677 0
02 B232%H| 27,677 27,677 0
O[A&ZHI ®XHl] 27,677
OXXZEM & X2 ALY SXE 24,050
0 StERIN 139,900,000& * 8% 11,192
0 AZTEAN 128,577,480 = 10% 12,858
OHAXZ2R2ANAY SRANE$L
40,300,000& * 9% 3,627
207 R4 2l 500,000 0 500,000
02 & A EHH| 500,000 0 500,000
OEZ= 2-LictAlad 2=
500,000,000& = 14l 500,000
HARH 22 e 249,782 243,318 6.464
201 Bt 114,782 91,218 23,564
01 AP 22| H| 73,110 49,546 23,564
OfgetE==H] 73,110
OBXRIIAMA P& 1,000 = 20074 200
QXA 2UHEH IA(OIRA,IIEE)
15,000& * 1004 1,500
OootECIAA 120,000 = 27 3,240
OBo0|lsSA HRe 60,000& * 60H 3,600
O IPERDI 100,000& = 1074 1,000
o=l a= 12,000 * 10H 120
OHXNHMHSAZY O] 5,000& * 20 100
O MZel 40,000 = 2094 800
O IHS (& 2 300W) 38,0008 = 7JH 266
OZEyH A2HEE 2 324,000& = 1094 3,240
OR2LUEH 2 Z2lH HOIZ(15M)
27,000 = 10H 270
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SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OBHEBAZEYH 2 46,664
o L E&CSH 599,250& * 204 11,985
o MSL I A2013 222,300 = 504 11,115
o &t=22014 118,640& * 100JH 11,864
o0 AutoCAD 2013 3,900,000& = 34 11,700
OBAMATZTERNH 2L 17,300& = 700H 12,110
02 3524l 41,672 41,672 0
O[AMEEHISAdl] 41,672
O dAMFH RAE
1,111,100& * 720CH * 5% 40,000
OHASTLS NAEY KB4
16,720,000 * 10% 1,672
405 XtabF SHI 135,000 152,100 A 17,100
01 AL 2B F SHI 135,000 152,100 A 17,100
OX(EH P2 135,000
O&BEH 1,000,000& = 100CH 100,000
O LCDE LI E 300,000& = 50CH 15,000
OoZgH 800,000& = 20CH 16,000
O Et=23(PDA) 2,000,000& = 2CH 4,000
Haoa 29 22,716 17,594 5,122
201 YUt 2 Y| 22,716 17,594 5,122
01 AFR 2t 2l dl 10,320 16,320 A 6,000
OlgetLgdl] 8,520
OBHAHOZ 2 25,2008 * 1004 2,520
OMHE stECIAa & HIZ2 2
3,000,000& = 2CH 6,000
O[/FEnsHl] 1,800
ONA ME WS 450,000 = 491 % 13| 1,800
02 3294l 12,396 1,274 11,122
O[AMEEHISXHl] 12,396
o&a2ss) KAES 17,692,500& * 8% 1,416
ORFEMMAFX g2 (ZFEI) u A
330,000& = 304 9,900
O XNSItA AEHIAAY SXES
5,643,000& * 8% 452
OCCTV & EASHAIAE FAE=
7,843,000& * 8% 628
AT Mal=S2AIAE 25 15,601 15,601 0
= 3,544
= 12,057
201 et A | 15,601 15,601 0
= 3,544
= 12,057




AN XXEH D
o FEIe RS
ool WHIE 2Y CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 15,601 15,601 0
OAZF Moll=S2AAE 2SAY
15,601,000 * 14 15,601
2 3,544
[ 12,057
ANZ? HFZEAAE S HH WA 56,770 0 56,770
= 10,770
e 46,000
201 Let24El 41,520 0 41,520
= 8,520
= 33,000
01 At 22l 41,520 0 41,520
OME2 23018t = &H WA ¥ F280t 2
SHALY 41,520,000& 14! 41,520
= 8,520
e 33,000
403 XS E A0l & 15,250 0 15,250
= 2,250
s 13,000
02 3|25 0l CH S CH 2 At HI 15,250 0 15,250
OSEIEXNAZIANAE (XZ-e) DET AL
15,250,000& * 14l 15,250
= 2,250
e 13,000
e 32 29 135,674 304,028 A 168,354
= 13,716
= 15,240
s 106,718
dEsiE Z2dacNsl 66,456 54,864 11,592
= 13,716
< 15,240
s 37,500
307 glz2tol & 66,456 54,864 11,592
= 13,716
S 15,240
i 37,500
02 It MAHEE 66,456 54,864 11,592
OX¥EsI0le Tzgaex &4
66,456,000& * 14 66,456
= 13,716
< 15,240
i 37,500
SHOIXl 22 30,888 233,334 A 202,446
201 ¢er24l 30,888 33,334 A2,446
02 =224l 30,888 33,334 N2,446
O[2223LHA] 1,254




SH: RXERD
a: JeIg 1E

Sl XY HE 29 (S &2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O EHOIX =2Q&MHIA 0IE=
165,000& * 48 660
OZHOIX Z0e o2  297,0008 = 23] 594
O[AE&EEIR Xl 29,634
O EHOIXI KX 2==(SW)
124,938,000& * 13% 16,242
OdE AAE RXNE 13,392
o &3t 40,950,000& * 5% 2,048
o IPS 36,247,000& * 5% 1,813
0 AT BOoIHX AIAE
22,680,000& * 5% 1,134
o 2 QHUSB el AlAE 35,893,000& * 5% 1,795
o PCOHRIEE ESAIAHE
44,000,000& = 5% 2,200
o SHOIX HAHEE ESAAH
26,200,000& * 5% 1,310
o Sz (=T SA)ALH
44,020,000 = 5% 2,201
o EciT 2eAAE 17,820,000& * 5% 891
dEstNEs L FE0SEAMNE 2= 8,520 8,520 0
201 L2l 2,700 2,700 0
01 At 22l 2,700 2,700 0
Oflget=&Hl] 2,700
O2FRE F2u=E Wl ¥ ZAE
15,0003 = 209! » 9 2,700
301 L2 A F 4,620 4,620 0
09 HALAHIEA S 4,620 4,620 0
Oz F=2su=E ZAsE
70,000& * 11AI2F * 63 4,620
303 L& 3 1,200 1,200 0
01 L& 3 1,200 1,200 0
O=83d ZFE=2s AU AMa=s 1,200
O zlR=4 500,000& = 1@l 500
O x4 300,000& = 1¢! 300
O &diat 200,000& « 2¢I 400
230t 22 29,810 7,310 22,500
01 LBHE2 FHl 23,010 3,510 19,500
01 At 2t 2l 23,010 3,510 19,500
Oflger=&tl] 23,010
OsRgSY Y NS K
10,000& = 1800H = 1JHOFS 1,800
OZEstu=E WM P2
13,5008 = 253 * 4J40t=2 1,350




SH: RXERD
a: JeIg 1E

Sl 1Y MR 2Y CEEEED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OZENH &ZEHI 19,500,000& * 14 19,500
OZEL30ISSEHEA MU 7L
3,600& = 2500 » 4040t= 360
202 odl 3,000 0 3,000
01 = LH YI 3,000 0 3,000
O&EsorsS 2el Ml
20,0003 = 32! = 50¢ 3,000
301 L2 A Z 3,800 3,800 0
09 HALAHIEA S 3,800 3,800 0
O2ZAd & XX 0HY 60,000& = 30¢! 1,800
OXNEX & Tz ek WsEA
50,0003 = 521 = 23| » 4J40t= 2,000
AL (XX LA D) 64,532 85,732 A 21,200
Jl=34l 64,532 85,732 221,200
SEEI2&l 28,274 37,974 29,700
201 Let24d] 20,774 20,774 0
01 At 22l 16,094 16,094 0
O[ger=&dl] 12,314
ORA2E SHAL 12,314,000& * 14 12,314
Ol=&Hl] 3,780
ORA2E SHUNH4L 7,0008 » 521 » 108 3,780
02 =224l 4,680 4,680 0
O[B222%LHA] 1,080
OAREZ M3 U PRI
90,000& ~ 123 1,080
O[AMA IR XYI] 3,600
Ozloa &&&d |l
3,600,000 * 14l 3,600
202 o4dl 4,500 14,200 A 9,700
01 = LH o4 1l 4,500 14,200 A9,700
ORN2Y SAAHY 20,0003 = 5@ = 45¢ 4,500
203 YR =] 3,000 3,000 0
04 NI FAH 3,000 3,000 0
ORA2EIRFAHI 250,000& = 123 3,000
w=sXJAE 234 13,505 19,905 A 6,400
201 £B-2dH| 9,105 9,105 0
01 At 22l 8,448 8,448 0
Olger=&tl] 4,601
OFN2E SHH L 4,601,000& 14 4,601
Ol3l] 3,847




SA KRSE D
Mo NS AAY (NALED)

¢l =gl (chel & 9l)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

ORN2E SUNY 3,847,000& * 14 3,847

02 =24l 657 657 0
O[22 LHA] 657
ORI 2HLSES 730& = 9000H 657

202 044l 4,400 10,800 A 6,400

01 = LH o4 1l 4,400 10,800 26,400
ORN2Y SUAHL 20,0003 = 49! = 55« 4,400

sAEI 23l 10,662 12,582 A 1,920

201 £B-2d| 6,162 6,162 0

01 At 22l 6,162 6,162 0
Olger=&tl] 2,382
ORAN2YE SHA& 2,382,000& * 14 2,382
Ol=&Hl] 3,780
ORAN2E SHAHA 7,0008 » 421 » 135 3,780

202 44l 4,500 6,420 21,920

01 = LH Yl 4,500 6,420 21,920
ORN2Y SUAHL 20,0003 = 32! = 75 4,500

SdAE D= | 12,091 15,271 A 3,180

201 £B-2d| 7,591 7,591 0

01 At 22l 7,591 7,591 0
Olger=2tl] 2,950
ORAN2YE SHAHA 2,950,000& * 14 2,950
Ol=&Hl] 4,641
OFN2E SUHL 7,0008 * 32 = 221 4,641

202 4l 4,500 7,680 A 3,180

01 = LH YI 4,500 7,680 A 3,180
FA2E SUAY 20,0003 = 32! = 75 4,500




